i ‘ih y é 5 tre fraktioner, ordningsfoljd

namn: Datum: Poéng:
1 1 1 1 1
—_— — X = = —_ X -t - =
3 4 3 2 3 5
2 3 2 1
3745 80+8-2
1 2 1 1 2 1
_ X _— - = —_— — X —_— =
2 5 3 2 3 2
2 1 2 2 3 1
—_F — X — = e X —m— - =
5 6 5 5 5 5
2 1 1 3
I8+9+ - = =X == ==
TS 6 6 5
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i ‘ih y é @ tre fraktioner, ordningsfoljd

namn: Datum: Poéng:
1 1 7 1 1 1 11
—_— = X - = — _ X —t - =
3 4 3 12 2 3 5 3
2 3 2 29 1 59 5
3747530 0+8-5=%5 %
1 2 1 2 1 2 1 1
_X_—_:(—__) —_— e X — = =
2 5 3 15 2 3 2 6
2 1 2 7 2 3 1 1
—+ - X —= — _ X - _ =
5 6 5 15 5 5 5 25
12 1 1 3 103
18+-9+ —-= — =2— =X == == (T
859 5 %5 66 35 U1go)
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